# A RESEARCH ON THE SPECIAL FUNCTIONS BY USING $q$-TRIGONOMETRIC FUNCTIONS 

MIN JI PARK


#### Abstract

In this paper, we introduce the concepts of $q$-cosine tangent polynomials and $q$-sine tangent polynomials. From these polynomials, we find some identities and properties by using $q$-numbers and $q$-trigonometric functions.


AMS Mathematics Subject Classification : 11B68, 11B75, 12D10.
Key words and phrases : Tangent polynomials, $q$-cosine tangent polynomials, $q$-sine tangent polynomials, $q$-exponential function.

## 1. Introduction

In analytic number theory, some properties and identities for Bernoulli, Euler and Genocchi polynomials are usefully utilized (see [1, 2, 14]). According to appearance of various extended versions of these polynomials, many mathematicians have studied and discovered several research results on these polynomials by using traditional theory and new techniques.

In 2013, Ryoo introduced the concept of tangent polynomials and developed several properties of these polynomials (see [10]). Also, tangent numbers are closely related to Euler and Genocchi numbers.

Definition 1.1. Tangent numbers $T_{n}$ and tangent polynomials $T_{n}(x)$ are defined by means of generating functions as follows:

$$
\sum_{n=0}^{\infty} T_{n} \frac{t^{n}}{n!}=\frac{2}{e^{2 t}+1}=2 \sum_{m=0}^{\infty}(-1)^{m} e^{2 m t}
$$

and

$$
\sum_{n=0}^{\infty} T_{n}(x) \frac{t^{n}}{n!}=\frac{2}{e^{2 t}+1} e^{t x}=2 \sum_{m=0}^{\infty}(-1)^{m} e^{(2 m+x) t}
$$

From Definition 1.1, we find the following theorems (see [4, 10, 13]).

[^0]Theorem 1.2. Let $m$ and $n$ be positive integers. If $m$ is odd, then the following hold.
(i) $\quad T_{n}(x)=(-1)^{n} T_{n}(2-x)$.
(ii) $T_{n}(x)=m^{n} \sum_{i=0}^{m-1}(-1)^{i} T_{n}\left(\frac{2 i+x}{m}\right)$.

Theorem 1.3. For any positive integer n, we have

$$
T_{n}(x+y)=\sum_{k=0}^{n}\binom{n}{k} T_{k}(x) y^{n-k}
$$

Recently, mathematicians studied Bernoulli and Euler polynomials by combining with trigonometric functions (see [7]). In [9], we investigated the extended version of tangent polynomials and some properties on these polynomials.

Definition 1.4. Let $x$ and $y$ be real numbers. Then the cosine tangent polynomials and the sine tangent polynomials are defined in terms of generating functions as follows:

$$
\sum_{n=0}^{\infty}{ }_{C} \mathcal{T}_{n}(x, y) \frac{t^{n}}{n!}=\frac{2}{e^{2 t}+1} e^{t x} \operatorname{cost} y
$$

and

$$
\sum_{n=0}^{\infty}{ }_{S} \mathcal{T}_{n}(x, y) \frac{t^{n}}{n!}=\frac{2}{e^{2 t}+1} e^{t x} \text { sinty }
$$

Theorem 1.5. Let $k$ be a nonnegative integer and suppose that $e^{2 t} \neq-1$. Then the following hold.
(i) $\quad \sum_{k=0}^{n}\binom{n}{k} 2^{n-k}{ }_{C} \mathcal{T}_{k}(x, y)+{ }_{C} \mathcal{T}_{n}(x, y)=2 C_{n}(x, y)$.
(ii) $\quad \sum_{k=0}^{n}\binom{n}{k} 2^{n-k}{ }_{S} \mathcal{T}_{k}(x, y)+{ }_{S} \mathcal{T}_{n}(x, y)=2 S_{n}(x, y)$.

Theorem 1.6. Let $x$ and $y$ be real numbers. Then we have
(i) ${ }_{C} \mathcal{T}_{n}(2+x, y)+{ }_{C} \mathcal{T}_{n}(x, y)=2 C_{n}(x, y)$.
(ii) ${ }_{S} \mathcal{T}_{n}(2+x, y)+{ }_{S} \mathcal{T}_{n}(x, y)=2 S_{n}(x, y)$.

We next review some definitions related to $q$-numbers. (For more, the readers can refer to $[3,8,11,12]$.) For any $n \in \mathbb{N}$, the $q$-number is defined as follows:

$$
[n]_{q}=\frac{1-q^{n}}{1-q}
$$

where $q \neq 1$.

Definition 1.7. The Gaussian binomial coefficients are defined by

$$
\left[\begin{array}{c}
m \\
r
\end{array}\right]_{q}=\left\{\begin{array}{cl}
0 & \text { if } r>m \\
\frac{\left(1-q^{m}\right)\left(1-q^{m-1}\right) \cdots\left(1-q^{m-r+1}\right)}{(1-q)\left(1-q^{2}\right) \cdots\left(1-q^{r}\right)} & \text { if } r \leq m
\end{array}\right.
$$

where $m$ and $r$ are nonnegative integers.
For $r=0$, the value is 1 since the numerator and the denominator are both empty products. Like the classical binomial coefficients, the Gaussian binomial coefficients are center-symmetric. There are several analogues of the binomial formula and this definition has a number of properties (see $[3,5,8,11,12]$ ).
Definition 1.8. The $q$-analogues of $(x-a)^{n}$ and $(x+a)^{n}$ are defined by

$$
(x \ominus a)_{q}^{n}=\left\{\begin{array}{cl}
1 & \text { if } n=0 \\
(x-a)(x-q a) \cdots\left(x-q^{n-1} a\right) & \text { if } n \geq 1
\end{array}\right.
$$

and

$$
(x \oplus a)_{q}^{n}=\left\{\begin{array}{cl}
1 & \text { if } n=0 \\
(x+a)(x+q a) \cdots\left(x+q^{n-1} a\right) & \text { if } n \geq 1
\end{array}\right.
$$

respectively.
Definition 1.9. Let $z$ be any complex number with $|z|<1$. Then two forms of $q$-exponential functions can be expressed as

$$
e_{q}(z)=\sum_{n=0}^{\infty} \frac{z^{n}}{[n]_{q}!} \quad \text { and } \quad E_{q}(z)=\sum_{n=0}^{\infty} q^{\binom{n}{2}} \frac{z^{n}}{[n]_{q}!}
$$

From Definition 1.9, we note that (1) $e_{q}(x) e_{q}(y)=e_{q}(x+y)$ if $y x=q x y$; (2) $e_{q}(x) E_{q}(-x)=1$; and (3) $e_{q^{-1}}(x)=E_{q}(x)$.
Definition 1.10. The $q$-derivative operator of any function $f$ is

$$
D_{q} f(x)=\frac{f(x)-f(q x)}{(1-q) x} \quad(x \neq 0) \quad \text { and } \quad D_{q} f(0)=f^{\prime}(0)
$$

We can prove that $f$ is differentiable at 0 , and it is clear that $D_{q} x^{n}=[n]_{q} x^{n-1}$.
Definition 1.11. In $q$-calculus, the $q$-trigonometric functions are given by

$$
\begin{array}{ll}
\sin _{q}(x)=\frac{e_{q}(i x)-e_{q}(-i x)}{2 i}, & \operatorname{SIN}_{q}(x)=\frac{E_{q}(i x)-E_{q}(-i x)}{2 i} \\
\cos _{q}(x)=\frac{e_{q}(i x)+e_{q}(-i x)}{2}, & \operatorname{COS}_{q}(x)=\frac{E_{q}(i x)+E_{q}(-i x)}{2}
\end{array}
$$

where $\operatorname{SIN}_{q}(x)=\sin _{q^{-1}}(x)$ and $\operatorname{COS}_{q}(x)=\cos _{q^{-1}}(x)$ (see [6]).
The main purpose of this paper is to define the $q$-cosine tangent polynomials and the $q$-sine tangent polynomials by using $q$-exponential functions and Definition 1.8. To find some properties of these polynomials, we use $C_{n, q}(x, y)$ and $S_{n, q}(x, y)$. We obtain some relations among $q$-tangent polynomials, $q$-cosine tangent polynomials and $q$-sine tangent polynomials. In addition, we derive $q$-partial derivatives of $q$-cosine tangent polynomials and $q$-sine tangent polynomials by using $q$-derivative.

## 2. Main results

In this section, we define the $q$-cosine tangent polynomials and the $q$-sine tangent polynomials by using $q$-analogues of $(x+a)^{n}$ and $(x-a)^{n}$. We also find some properties of these polynomials by applying $q$-power series of $q$-trigonometric functions.

Theorem 2.1. Let $x$ and $y$ be real numbers and let $i=\sqrt{-1}$. Then the following hold.

$$
\text { (i) } \quad \sum_{n=0}^{\infty} \frac{T_{n, q}\left((x \oplus i y)_{q}\right)+T_{n, q}\left((x \ominus i y)_{q}\right)}{2} \frac{t^{n}}{[n]_{q}!}=\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x) C O S_{q}(t y)
$$

(ii) $\sum_{n=0}^{\infty} \frac{T_{n, q}\left((x \oplus i y)_{q}\right)-T_{n, q}\left((x \ominus i y)_{q}\right)}{2 i} \frac{t^{n}}{[n]_{q}!}=\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x) S I N_{q}(t y)$.

Proof. By substituting $(x \oplus i y)_{q}$ instead of $z$ in $q$-tangent polynomials, we find

$$
\begin{align*}
\sum_{n=0}^{\infty} T_{n, q}\left((x \oplus i y)_{q}\right) \frac{t^{n}}{[n]_{q}!} & =\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x) E_{q}(i t y)  \tag{2.1}\\
& =\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x)\left(\operatorname{COS}_{q}(t y)+i S I N_{q}(t y)\right)
\end{align*}
$$

By substituting $(x \ominus i y)_{q}$ instead of $z$ in $q$-tangent polynomials, we also find

$$
\begin{align*}
\sum_{n=0}^{\infty} T_{n, q}\left((x \ominus i y)_{q}\right) \frac{t^{n}}{[n]_{q}!} & =\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x) E_{q}(-i t y)  \tag{2.2}\\
& =\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x)\left(\operatorname{COS}_{q}(t y)-i S I N_{q}(t y)\right)
\end{align*}
$$

Now, (i) comes from the sum of (2.1) and (2.2), and (ii) can be obtained by subtracting (2.1) by (2.2).

Definition 2.2. Let $x$ and $y$ be real numbers. Then the $q$-cosine tangent polynomials and the $q$-sine tangent polynomials are defined in terms of generating functions as follows:

$$
\sum_{n=0}^{\infty}{ }_{C} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!}=\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x) C O S_{q}(t y)
$$

and

$$
\sum_{n=0}^{\infty}{ }_{S} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!}=\frac{[2]_{q}}{e_{q}(2 t)+1} e_{q}(t x) S I N_{q}(t y)
$$

By Theorem 2.1 and Definition 2.2, we obtain

## Corollary 2.3.

$$
\begin{aligned}
& \text { (i) } \quad{ }_{C} T_{n, q}(x, y)=\frac{T_{n, q}\left((x \oplus i y)_{q}\right)+T_{n, q}\left((x \ominus i y)_{q}\right)}{2} \\
& \text { (ii) } \quad{ }_{S} T_{n, q}(x, y)=\frac{T_{n, q}\left((x \oplus i y)_{q}\right)-T_{n, q}\left((x \ominus i y)_{q}\right)}{2 i}
\end{aligned}
$$

Here, we remark that $C_{n, q}(x, y)$ and $S_{n, q}(x, y)$ were considered in [7, 9]. From [7], we can know that $C_{n, q}(x, y)$ and $S_{n, q}(x, y)$ are very useful polynomials to find identities of polynomials and relations of another polynomials. Recall that

$$
\sum_{n=0}^{\infty} C_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!}=e_{q}(t x) C O S_{q}(t y) \text { and } \sum_{n=0}^{\infty} S_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!}=e_{q}(t x) S I N_{q}(t y)
$$

Theorem 2.4. Let $T_{n, q}(x, y)$ denote the $q$-tangent polynomials. For $|q|<1$, the following relations hold.

$$
\begin{aligned}
& \text { (i) }{ }_{C} T_{n, q}(x, y)=\sum_{k=0}^{n}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{q} T_{k, q} C_{n-k, q}(x, y), \\
& \text { (ii) }{ }_{S} T_{n, q}(x, y)=\sum_{k=0}^{n}\left[\begin{array}{l}
n \\
k
\end{array}\right]_{q} T_{k, q} S_{n-k, q}(x, y)
\end{aligned}
$$

Proof. (i) From the definition of $q$-cosine tangent polynomials, we derive a relation between $q$-tangent polynomials and $q$-cosine tangent polynomials as (2.3):

$$
\begin{align*}
\sum_{n=0}^{\infty}{ }_{C} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!} & =\sum_{n=0}^{\infty} T_{n, q} \frac{t^{n}}{[n]_{q}!} \sum_{n=0}^{\infty} C_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\left[\begin{array}{c}
n \\
k
\end{array}\right]_{q} T_{k, q} C_{n-k, q}(x, y)\right) \frac{t^{n}}{[n]_{q}!} \tag{2.3}
\end{align*}
$$

By comparing the both sides of (2.3), we get the required result.
(ii) By using the Cauchy product in the definition of $q$-sine tangent polynomials, we obtain the required relation.

By setting $q \rightarrow 1$ in Theorem 2.4, we obtain

## Corollary 2.5.

$$
\begin{aligned}
& \text { (i) }{ }_{C} T_{n}(x, y)=\sum_{k=0}^{n}\binom{n}{k} T_{k} C_{n-k}(x, y), \\
& \text { (ii) } \quad{ }_{S} T_{n}(x, y)=\sum_{k=0}^{n}\binom{n}{k} T_{k} S_{n-k}(x, y) .
\end{aligned}
$$

In $q$-calculus, we note that

$$
\begin{equation*}
\operatorname{COS}_{q}(x)=\sum_{n=0}^{\infty}(-1)^{n} q^{(2 n-1) n} \frac{x^{2 n}}{[2 n]_{q}!} \text { and } S_{I} N_{q}(x)=\sum_{n=0}^{\infty}(-1)^{n} q^{(2 n+1) n} \frac{x^{2 n+1}}{[2 n+1]_{q}!} \tag{2.4}
\end{equation*}
$$

For a real number $x,[x]$ denotes the greatest integer not exceeding $x$.
Theorem 2.6. Let $T_{n, q}(x)$ be the $q$-tangent polynomials. Let $|q|<1$ and let $n$ be a nonnegative integer. Then the following hold.
(i) ${ }_{C} T_{n, q}(x, y)=\sum_{k=0}^{\left[\frac{n}{2}\right]}\left[\begin{array}{c}n \\ 2 k\end{array}\right]_{q}(-1)^{k} q^{(2 k-1) k} T_{n-2 k, q}(x) y^{2 k}$,
(ii) ${ }_{S} T_{n, q}(x, y)=\sum_{k=0}^{\left[\frac{n-1}{2}\right]}\left[\begin{array}{c}n \\ 2 k+1\end{array}\right]_{q}(-1)^{k} q^{(2 k+1) k} T_{n-(2 k+1), q}(x) y^{2 k+1}$,

Proof. (i) By using the power series of $\operatorname{COS}_{q}(x)$ in the generating function of $q$-cosine tangent polynomials, we derive

$$
\begin{align*}
\sum_{n=0}^{\infty}{ }_{C} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!} & =\sum_{n=0}^{\infty} C_{n, q}(x) \frac{t^{n}}{[n]_{q}!}(-1)^{n} q^{(2 n-1) n} y^{2 n} \frac{t^{2 n}}{[n]_{q}!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}(-1)^{k} q^{(2 k-1) k} T_{n-k, q}(x) y^{2 k}\right) \frac{t^{n+k}}{[n-k]_{q}![2 k]_{q}!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\left[\begin{array}{c}
n+k \\
2 k
\end{array}\right]_{q}(-1)^{k} q^{(2 k-1) k} T_{n-k, q}(x) y^{2 k}\right) \frac{t^{n+k}}{[n+k]_{q}!} \tag{2.5}
\end{align*}
$$

From (2.5), we can complete the proof.
(ii) By using the right equation of (2.4) for the generating function of $q$-sine tangent polynomials, we find the desired result.

By putting $y=1$ in Theorem 2.6, we obtain

## Corollary 2.7.

(i) ${ }_{C} T_{n, q}(x, 1)=\sum_{k=0}^{\left[\frac{n}{2}\right]}\left[\begin{array}{c}n \\ 2 k\end{array}\right]_{q}(-1)^{k} q^{(2 k-1) k} T_{n-2 k, q}(x)$.
(ii) ${ }_{S} T_{n, q}(x, 1)=\sum_{k=0}^{\left[\frac{n-1}{2}\right]}\left[\begin{array}{c}n \\ 2 k+1\end{array}\right]_{q}(-1)^{k} q^{(2 k+1) k} T_{n-(2 k+1), q}(x)$.

Theorem 2.8. Suppose that $e_{q}(2 t) \neq-1$. Then we have
(i) $\quad[2]_{q} C_{n, q}(x, y)=\sum_{k=0}^{n}\left[\begin{array}{l}n \\ k\end{array}\right]_{q} 2^{n-k}{ }_{C} T_{k, q}(x, y)+{ }_{C} T_{n, q}(x, y)$,
(ii) $\quad[2]_{q} S_{n, q}(x, y)=\sum_{k=0}^{n}\left[\begin{array}{l}n \\ k\end{array}\right]_{q} 2^{n-k}{ }_{S} T_{k, q}(x, y)+{ }_{S} T_{n, q}(x, y)$.

Proof. (i) If $e_{q}(2 t) \neq-1$, then we can multiply $e_{q}(2 t)+1$ in the $q$-cosine tangent polynomials as

$$
\begin{align*}
\sum_{n=0}^{\infty}{ }_{C} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!}\left(e_{q}(t)+1\right) & =[2]_{q} e_{q}(t x) C O S_{q}(t x)  \tag{2.6}\\
& =[2]_{q} \sum_{n=0}^{\infty} C_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!}
\end{align*}
$$

The left-hand side in (2.6) can be expressed as

$$
\begin{align*}
\sum_{n=0}^{\infty}{ }_{C} T_{n, q}(x, y) & \frac{t^{n}}{[n]_{q}!}\left(e_{q}(2 t)+1\right) \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\left[\begin{array}{c}
n \\
k
\end{array}\right]_{q} 2^{n-k}{ }_{C} T_{k, q}(x, y)+{ }_{C} T_{n, q}(x, y)\right) \frac{t^{n}}{[n]_{q}!} \tag{2.7}
\end{align*}
$$

From (2.6) and (2.7), we finish the proof.
(ii) By using the power series of $q$-sine function, we find the desired result.

By setting $q \rightarrow 1$ in Theorem 2.8, we have
Corollary 2.9. $\operatorname{Let}_{C} T_{n}(x, y)$ be the cosine tangent polynomials and let ${ }_{S} T_{n}(x, y)$ be the sine tangent polynomials. Then the following hold.
(i) $2 C_{n}(x, y)=\sum_{k=0}^{n}\binom{n}{k} 2^{n-k}{ }_{C} T_{k}(x, y)+{ }_{C} T_{n}(x, y)$,
(ii) $2 S_{n}(x, y)=\sum_{k=0}^{n}\binom{n}{k} 2^{n-k}{ }_{S} T_{k}(x, y)+{ }_{S} T_{n}(x, y)$,

From Theorem 2.8, the following result holds.

## Corollary 2.10 .

$$
\begin{aligned}
\sum_{k=0}^{n} & {\left[\begin{array}{l}
n \\
k
\end{array}\right]_{q} 2^{n-k}\left({ }_{C} T_{k, q}(x, y)-{ }_{S} T_{k, q}(x, y)\right) } \\
& =\frac{\left(1+q^{2}\right) C_{n, q}(x, y)+{ }_{S} T_{n, q}(x, y)}{1+q}-\frac{(1+q)^{2} S_{n, q}(x, y)+{ }_{C} T_{n, q}(x, y)}{1+q}
\end{aligned}
$$

Theorem 2.11. For $0<q<1$ and real numbers $x$ and $y$, we obtain
(i) $\quad \frac{\partial}{\partial x} C T_{n, q}(x, y)=[n]_{q C} T_{n-1, q}(x, y), \quad \frac{\partial}{\partial y} C T_{n, q}(x, y)=-[n]_{q S} T_{n-1, q}(x, q y)$.
(ii) $\quad \frac{\partial}{\partial x} S_{S} T_{n, q}(x, y)=[n]_{q S} T_{n-1, q}(x, y), \quad \frac{\partial}{\partial y} S T_{n, q}(x, y)=[n]_{q C} T_{n-1, q}(x, q y)$.

Proof. (i) Let $x$ be any real number. Then we find the $q$-partial derivative of $q$-cosine tangent polynomials. By using the $q$-derivative of the $q$-cosine function,
we have

$$
\begin{align*}
\sum_{n=0}^{\infty} \frac{\partial}{\partial x}{ }_{C} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!} & =\sum_{n=0}^{\infty}{ }_{C} T_{n, q}(x, y) \frac{t^{n+1}}{[n]_{q}!}  \tag{2.8}\\
& =\sum_{n=0}^{\infty}[n]_{q C} T_{n-1, q}(x, y) \frac{t^{n}}{[n]_{q}!}
\end{align*}
$$

From (2.8), we obtain the left result of (i). In a similar way as in the proof of the left result of (i), we find

$$
\begin{align*}
\sum_{n=0}^{\infty} \frac{\partial}{\partial y}{ }_{C} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!} & =-\sum_{n=0}^{\infty}{ }_{S} T_{n, q}(x, q y) \frac{t^{n+1}}{[n]_{q}!}  \tag{2.9}\\
& =-\sum_{n=0}^{\infty}[n]_{q S} T_{n-1, q}(x, q y) \frac{t^{n}}{[n]_{q}!}
\end{align*}
$$

Hence we have the right result of (i) from (2.9).
(ii) For any real number $x$, we find the $q$-partial derivative for $q$-sine tangent polynomials by using the $q$-derivative of the $q$-sine function as

$$
\begin{align*}
\sum_{n=0}^{\infty} \frac{\partial}{\partial x}{ }_{S} T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!} & =\sum_{n=0}^{\infty}{ }_{S} T_{n, q}(x, y) \frac{t^{n+1}}{[n]_{q}!}  \tag{2.10}\\
& =\sum_{n=0}^{\infty}[n]_{q S} T_{n-1, q}(x, y) \frac{t^{n}}{[n]_{q}!}
\end{align*}
$$

In addition, for any real number $y$, we investigate the $q$-partial derivative for $q$-sine tangent polynomials by using the $q$-derivative of the $q$-sine function as

$$
\begin{align*}
\sum_{n=0}^{\infty} \frac{\partial}{\partial y} S T_{n, q}(x, y) \frac{t^{n}}{[n]_{q}!} & =\sum_{n=0}^{\infty}{ }_{C} T_{n, q}(x, q y) \frac{t^{n+1}}{[n]_{q}!} \\
& =\sum_{n=0}^{\infty}[n]_{q} T_{n-1, q}(x, q y) \frac{t^{n}}{[n]_{q}!} \tag{2.11}
\end{align*}
$$

From (2.10) and (2.11), we obtain the required results.

## References

1. G.E. Andrews, R. Askey, and R. Roy, Special Functions, Cambridge Univ. Press, Cambridge, 1999.
2. R. Ayoub, Euler and the zeta function, Amer. Math. Monthly 81 (1974), 1067-1086.
3. G. Bangerezako, Variational q-calculus, J. Math. Anal. Appl. 289 (2004), 650-665.
4. C. Bildirici, M. Acikgoz, and S. Araci, A note on analogues of tangent polynomials, J. Algebra Number Theory Academia 4 (2014), 21-29.
5. L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, D. Reidel Publishing Co., Dordrecht, 1974.
6. H. Exton, q-Hypergeometric Functions and Applications, Ellis Horwood Series in Math. Appl., Halsted Press, Chichester, 1983.
7. T. Kim and C.S. Ryoo, Some identities for Euler and Bernoulli polynomials and their zeros, axioms 7 (2018), 1-19.
8. J.Y. Kang and Y.G. Kim, Some properties and identities of $q$-Frobenius tangent polynomials, J. Appl. Pure Math. 2 (2020), 127-137.
9. M.J. Park and J.Y. Kang, A study on the cosine tangent polynomials and sine tangent polynomials, J. Appl. Pure Math. 2 (2020), 47-56.
10. C.S. Ryoo, A note on the tangent numbers and polynomials, Adv. Studies Theor. Phys. 7 (2013), 447-454.
11. C.S. Ryoo, Some properties of two dimensional $q$-tangent numbers and polynomials, Global J. Pure Appl. Math. 12 (2016), 2999-3007.
12. C.S. Ryoo, On Appell-type degenerate twisted ( $h, q$ )-tangent numbers and polynomials, J. Appl. Pure Math. 1 (2019), 69-77.
13. C.S. Ryoo, Some relationships between the tangent polynomials and Bernstein polynomials, Int. J. Math. Anal. (Ruse) 7 (2013), 1723-1730.
14. E. Süli and D.F. Mayers, An Introduction to Numerical Analysis, Cambridge Univ. Press, Cambridge, 2003.

Min Ji Park received Ph.D. from Hannam University. She is currently a lecturer at Hannam University since 2019. Her research interests are number theory, p-adic functional analysis and commutative algebra.

Department of Mathematics, College of Life Science and Nano Technology, Hannam University, Daejeon 34430, Republic of Korea.
e-mail: mjpark5764@gmail.com


[^0]:    Received December 16, 2020. Revised December 29, 2020. Accepted January 11, 2021.
    © 2021 KSCAM.

